26.) .4 ﬁ'_@ 27) .6_ f.b_'f.s—
2 it wit NS A5 VS
Vot ﬁ\
\Z o)
G5 L 20, [
28.) 2\1.'-1- \\1 v s 4 .jﬁ_f_ﬁ
BV g PIEodE B
¥ -2V0 32443
W -\ b4 -5
-2 32 + 43
Solve the equation for x. Write your answer in simplestta u:\a? orm.
30.) 5x* =80 31.) x* =84 32.) 7x* —-10=25
-_5_ S _V)‘___ im<ﬂ +10 10
=1 + V2 x"=35
X [x - * 220 4 5
.\/;(_z =t .\/‘_G | XI: 5
=t
U L AR
33.1.—:(3'——4)2=11)3 34) 2(x+2)*-5=28 l =R ﬁ?]
x-4)" = 33 2(x+2y=1\3
X = V33 Ix12)" - 2
-4 =1 '\] S s o e B
! 33 V(x12) \{: 3 AT V7o
X‘-']Lt"ﬁg x-rztt\/i_%—"?ﬁ_f{‘“i—'
[x=-2: %]
35.) The path of a basketball thrown at an angle of 45° can be modeled by y = —.02x% + x + 6.
a.) What is the maximum hejght of the basketball? A= i‘g\ = = 55 S LS

N HOx - (25, 18.9) 2\-0.00)
' i‘%~5 1 S R AT R AR

b.) What height is the basketball thrown from? _

N (0,6) = M

36.) The arch of the Gateshead Millennium Bridge forms a parabola with equation
y = =0.016(x — 52.5)% + 45 where x is the horizontal distance (in meters) lrom the arch’s left

end and y is the distance (in meters) from the base of the arch, (52.5,49)
What is the width of the arch? \l Y '\{Y - ks‘l ‘r). q 5) /T\
575 +95¢ 5 “g__v__j ——
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37) :\ll']l}}i&;h a 1‘00sz11| field appears to be fat, its surface is actually shaped like a parabola so that rain runs
off to both sides. The cross section of a field with synthetic turf can be modeld by

y = —0.000234x(x — 160) WK E%_&
ﬂ) - %0 surface of

1 football field
a.) What is the field’s width? (80,144 To)
90 150 ‘\w 0f f! P bt AR Pt o
Not drawn to scale A

b.) What is the maximum height of the field’s surface?

U = -0.00023% (20) (80 “\b0)

413410 ~ L F]

38.) An arch to the entrance of the library can be modeled by y = —0.13x% + 2.5x where x and y are measured
in feet. To the nearest foot. what is the height of the highest point of the arch?

e . -5 =« , q
X= 20 ° 705 q .\w\5 \l(v\{ﬁ(- W,\o\B,\ZO\ )

Y- -0.13(019)" + 72.5(9.01%)

where x and y are measured in feet.

39.) When an object is dropped, its height / (in feet) above the ground after f seconds can be modeled by
the function.
h=-16t2+ hy

where /g is the objects initial height (in feet).

A cliff diver dives off a cliff 40 feet above water.
a.) Write and equation giving the diver’s height 4 (in feet) above the water after / seconds.
[ -t + 40|
b.) How long is the diver in the air? (Round answers to the nearest tenth of a second)
0=-\ot*+40 » 2.5t"
40+ -t~

40.) The air resistance K (in pounds) on a racing cyclist is given by the equation R = 0.00829s* where s is the
bicycle’s speed (in miles per hour).

What is the speed of a racing cyclist who experiences 5 pounds of air resistance?

5-0.00629¢°
S x 03130
V5t = £ Y03.130

SR T 24 5538 R |24 hymph
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Chapter 4 (Part 2) Review Worksheet Name: Y. E\f

Solve the equation.

1) x2+9=4 2) x2=2x% + 4 3) ;x2+10=-23
X=-9 -X =4 3X -33
Xz =145 X"=- x "= -99
Xt D VT NS

X=tL |X=* 3\ I

4) -5x2 -3 =97 5) (x—-10)%? = =54 6) —~(x+7)*+8=144

..5;( =100 ‘\f (K‘IO)!. T 1 -,"_5._*,\<\%i _ U\"ﬂl: 30
‘-20 : = -

X0 =% 3(yp X+7) = -3l

“*ZLVS' *—l X471 = =L

Write the expression as a complex number in standard form.

7) (8~ 60) + (7 + 4i)

B+ -gLtY

1\5-2¢ |

) 2730~ (6%
2-9-30+ 50

9) (3+40) - (2-5i

3-2+4 Lt DL

o]

. -\
0y =9i2—10 w\ 11.) (5 + )(4 — 2i) 12) (2—"7i)(~8 — 31)
gLt Al 20-\00+4L-2L° -l -t Dbt 4 2L
- AV W0 S50 -
1%5L-9 0 500 -2y

.EE:EiE] SZZ'WL&

\-51*50L

\
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H "_3_'_&0_“- 3+i  2+30 o |
T T3 TR FET) U roTh 77?
RS ot Gt 3L 55200 - 40
hgatl 4900 T9-T0L"
RIS 0l =3 35131+
o e 19010
24 -\ 2 x|\ e
9S 3 =
212 |%_4 3 T
S 5L s Tl (1IF T L US'GH‘L%’“%Q

Use the properties of exponents to write the cor;lnplex number in standard form.
v B3 \

16) =5 +17 \T 17)4+t29* 7,‘1
.

L5‘5

Solve the equation by completing the square. L_\o_)

20) x*+16x—17=0 HL) 2 ()" 7Y
Xl*\mx-ﬂ::\-\q Eigl
x*5) = )

Xv$ =9
X= -8

A CARIURT
X T+dx-11=0
X1+Hx+[]f\ﬂ+Eﬂ
(x42) "=

Xt1- f_<{—

B s

18.) —11—2i%6 4} w0 1915+ 7i7¢ [ 7y
T =T
ey B \S+10) 26
-\ ¢ Dt

-9
71)x—6x 15=0 Pal%[s) >9
X bx*[]

\x-3)"= 24

X - 3'*#"<
X =320
) = (00 vy
249 +|144]

23) x2 + 24x + 244 = 0
X 2dy| 44|
X +12) = -100
X H17 = =00

XA1L= £A0L
[x- 122104
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Write the quadratic function i |n vertex form. Then identify the vertex
__zj;) y=x*+14x + 39 ) 7) 719

25.) y = x* —20x + 125 (LQ 5 (10) 2100
4l +y :)(1*”)(+\LD +39

N y =X - 20x +[100 ]+ 125
30y = (e 1) 39 00 fy- (X-10)7+125
S (x+7)™-10|

- gﬁtu-\®‘+zs
LWHX -1,710 [\}evHx:uO,zs\

Find the value of x.

26.) Area of parallelogram = 48 units?

27.) Area of rectangle = 78 units®
(A=beh)

1% - ;.k(ﬁx ) DT 1= x (X)) ()9 (3.9 2,45
4g =X +x 18X H1X 7 S
XXt E& % ] X+ Tx izes) <18 1 zes)
1\t
LX"S) (Xf L) > 30,25
x+3-+ﬁ X -3+ 51 R
Use the quadratic equation to solve the equation. -3 v) rq 5
- ot Y paas A = )
23.)02»’ +¢x—3=0 X 70 29)(;33; i_“;ix_:\]io \X E \Ol x/)ﬂ
SR (S (DTG . .
X “_‘_"_‘Z‘LW——) v - \[mf-\%(qmi
e - < A
X s VT -
\%
X:'iﬂ_ ~ o L
7 A= 2,“(‘1_ X% \r)_( )._5—\
30.) 6x° — 8x = -3 31) 3x*+10x—-5=0
Ux*-Bx+3=0 S ® &
o v K= -8t YOOI
x,_-t-ﬂf NTH -0 3) TO!
2“‘)) Y = H\E:__q_\@\ {_\_h
X 'B,ﬂ\<
X,'_ \Q+ L\j:-“
‘g*,z;_ﬁ .
X : 4'1[__“ \
e B

Scanned by CamScanner



32)A person spik_cs a volleyball over a net when the ball is 9 feet above the ground. The volleyball has an
nitial vertical velocity of -40 feet per second. The volleyball is allowed to fall to the ground. How long
is the ball in the air after it 15 spiked? -1-40) * T
- - NHO) - 4 (-1p)(A
{ = NEHO™- 1)

N=-lgtts Not * N 1(-1g)
0= -tot™-Yotr 9 e o

b2 a0, 020 % [0-21 seonds |

33.) A juggler tosses a ball into the air. The ball leaves the juggler’s hand 4 feet above the ground and has an

initial vertical velocity of 40 feet per second. The juggler catches the ball when it falls back to a height
of 3 feet. How long is the ball in the air?

N WA Nt + g e YT

R 2(-10)
b - \\HE MOt v Y - 40t Viowd
0=-19t" *40t +) -32 .
bx 0034 2 515 % |29 seonds
saontd soud =
34) y 2 -2x2 +8x -5 I’:'-‘aiii-‘-ii--it-l-?.l"r}‘ 35) ¥ F-(x+5)(x + 1) mmmm—E
aos: k=L ST aos x=w3 = =
verlex:_LLél 1 r /A l‘l vertex:btﬁ) Tq’
- .. TEOTETTT g2 e LT
bR e R A Ee ==t
T =il : £-5
e b ovs [HER] o A

BEINEEE x—“J-L\-B-%;q
AN FINR AR Rl A

d\os\\ﬂd (}\35\“ d
36.) v >“20(ﬁd— 4)? =5 37) y <20t 2

S0M
£_ 2

y<-x?+4x+2
f

NRX (4,79) }IH’;" i

w34 ) S\ T

IRRIRE

IS %\%x !Li’i"

%] ek
~ _—__Ll__o_'_"%-_l \I\\Q,Y\{X (0,"5\ ‘
T\ A \ k-2 - vt AP
_ RSt %\/ |10V 1|2 1S U\A/
YRX'(—Z'I‘O) \ 0 -3 ] = At .
e (1Y SOl B N B ST R
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Chapter 5 Review Worksheet Name: K‘E \/

Simplify the expression. Evaluate all powers with numerical bases. NO DECIMALS.

2x~6y5
16x3y~2

x-'—i\dlo 5-3)(-!?_3\9 Zx‘q 2

L) {4y )2 2) (3xty=2)-3 3.)

i e 0
w HP% :
G :
CRLL Y A R
gmip= N o 24y
_3 n 6 5b'5 _/Z;_)j—
E D _"__0\_'1——1 &L —
AMmsne 1000 b | o

n-" ‘ 'y

9.3 m*> | 247 m’N 20
Decide whether the function is a polynomial function. If so, write it in standard form and state its degree,
type, and leading coefficient. If it is not a polynomial, explain why.

7)) f(x)—x ——x +3 ﬁi 8.) h(x)=5x2+1;x"—x NO\
)

A Lo NG NEGative
Type: Guarhic eXPOTLLNTS
LC: )

) 900 =t X068 \Eﬁ\ 10 j) = 7=+ | 5 |
ConNt \mm NN (Ui SE 1) X Tx- 3

?(\Y\Qﬂ’fs VA
Tyye. QvadratG

LG 1y

Scanned by CamScanner



Evaluate the function for the given value of x using both direct and synthetic substitution.

1) g(x) = 2x* = 5x* — 4x + 8 when x = 3

9(3) = 2(3)4-5(3)2-4(3) +§ 5[?‘5 0 -4 %
= \0Z-135-12+% v o 3 915

\_(‘ﬁ(fﬂ: 25( L V3 5 BE
12)) f(x) = x5 = 2x® + 15 whenx = 4 |

F)= (D210 +)5 u‘\\ 0 -2 0 0 15

- 1074128 +15 v+ 1o 50 229 §9y
f:an | | 4 1t 0% % v}
F4)=91

Describe the end behavior of the graph of the polynomial function by completing the statements. (Hint:
Sketch a general picture of the graph to help).

13.) f(x) = —8x19 + 21x3 VB AL A 14.) f(x) = 12x5 — 2x'* + 8x7 + 99
f@) -2 asxo-m LT f(x)= —00 asx——o V- 00
f(x)» ~ PO asx -+ ! \ fx)-» 100 asx - +o L&;
[4
15) f(x) = =x*+1 . 16.) f(x) = >x®+ 8x® — 11x% + 19 ‘
. D00 : RS
fx) > Y20 asx - oo LU f0) » Y20 asx - o L
f(x)— A asx — +co AN flx) - AN asx = +oo ,\ A
5y )

Perform the indicated operation.

17.) (5x __§+%1+Q 9x% +4x) 18,) (& + 40 —50)~ (e tx ~0)

LoR>- a3 | [ ant o)
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19.) (¥ - 6)?5:2‘?}8) 20.) [(x— Hx+7)5x - 1)
et (X “+ X f%x*Z%\("ax-l)

iy -%) - o F ST
X‘i?(x’%# X 1—‘6 v (E)X :’X )+ Lig (SX’H ()(z*sfoB)
=L ,2(., —_:X-?Q)( ‘@_—,x ne, SXKXZ*\BX—-Z%)’W(X?—*SX—ZS)
SO ZUCBHT] 50 G 8

Factor the polynomial completely. LSX = t ‘Li X - ‘ L'i jx +Z\S‘I
% H(Y(Y\u 22) 2x5 — 12x3 + 10x

21.)64x -8 RS .
5 (8X o) ok (W 2x (x*-0x "+ 9)
W 2x (X -9) (x*-1)
[8(2x-D (x+ 2D | | 2x (x“”-"a\kxm(x'l)ﬁ
23.) 2x3 —7x2\-8x+28 24.) 279 3+ 3”,rr3 * \)\O(S
2% -7 -4 (2x-7) M
(DX =) 332 D (g7 21g +49)]
[(zx-D (X HA(X-Z)X
Find the real-number solutions of the equation (Start by factoring). % 7] - U\;‘b
25.) 16g* — 625 =0 26.) 16x° —4fx2—42x=0 _2%/‘\-% .77
vfsﬁ”‘ Tzs)" ~ 2 (&" ;zz?%‘;z:;f v 00
) =() X (DX~ WX - L

(%gazsﬂﬁpﬂ ZS 5) 0 9% (2%~ ﬂ(h{x j 0

4q*alS 2919 2 2%-0 24120 uxa3=0
Bzeda h\@ @ﬁ ’/L \x= /‘1

no YK Qu\
<y hon
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27) A shipping box is shaped like a rectangular prism. It has a total volume of 96 cubic inches. The height is
two inches less than the width and the length is eight inches longer than the width.

a.) Write a polynomial equation in standard form that represents the volume of the box.
A A2 N (x+ DX 7)
- X (XI-Z)‘*?)X'\W)
ok X ox-1)
LV = %% g -10x |

b.) Solve the polynomial equation from part a. What are the dimensions of the box?
49 = % x\gx -10%
0= %2+ ux g% -1V
0= X" (X +0) - (X +V)

0= (x+9)(X™ -1)
0= (xt9) (x+4) (X -1
o0 x>
28.) You have 240 cubic inches of clay with which to make a sculpture shaped like a rectangular

prism. You want the width to be 4 inches less than the length and the height to be 2 inches more than 3
times the length. What should the dimensions of the box be?

(XD 2x+17) = 240

% (3% "+ 2x -\Zx-%) = £40

/ % (3x™\0x -%) = 240

o 2% 3 -\0X " -%%x =240

2K7- 10X 8% -740 = 0

y\l(}x_\()) ¢ BKX-")’\H =0
71 -

W need an oddiiong

merned ¥ TOtey iy

3IKtL

Scanned by CamScanner



Chapter 5 (Part 2) Review Worksheet

Divide using polynomial long division.
1) (x> +5x—14) + (x = 2)
X + ]
X-L [y 19% - 14
“-Ix
T
T -1
0

X 41

3.) (S5x* 4 2x3 = 9x+12) + (x? —3x + 4)
Sx® + X t 31
Bx*%j52r+2x5+ox 9x+\1
l5x +20x° ), l

-20xT-9%

: \ o Xt X 12

B3I -TIX v\
I -943x Y124

Yox -1z
OX +VIX A3+ 50

Divide using synthetic division.
5) (x* =7x?+9x—10) = (x = 2)

2110-19 -10
\\Lz‘i—b\g
1233

1 B

[ %2+ 1™ 3% 43+ gj-z]

\ox -\\Z

— A

2) (6x2—-5x+9)+(2x—1)

-

%

4) (4x*+5x—4)+ (x* =3x-2) Lh( \Zx Y44

W-3x-7 [yt 4 0x° rOx 15x
Jg' 12X -gxt LX
T X" +5X
Zz -30% - 249X
LV(( +/29x ~
X"-\32x - ‘oB
vl x +89
Y

6.) (2x2 —11x% + 15x% + 6x — 18) + (x — 3)

AV A VIXT A 0x -\
2 1=\ 11 0\

\\], -3% 4% -1V
YRRV L"ii '

— VF\\

\—\\X -1ox - ”\7 ! R
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Given polynomial f(x) and a factor of f(x), factor f(x) completely.

7) f(X) = ,'{3 -_— 3x2 - 16x — 12, (.”C -_ 6) 8) f(x) = 3X3 _ 16x2 —103x + 36, (x + 4)

\o\\ -3 A\ -\ 413 -10 -\03 3
Yy v \% 2 \
-\Z2 W1 -3\

v 3 -0 A0 1-2
(x-0) X" 43x 4 2) X+ Z%"-28x +9) ’ AN
[ X e 21 1)

) (3% (6 -)-) (X-9))
IEERN VNG

functiom:

Given polynomial function [ and a zero of f, find the othe

?) J(x) = 223 + 3x* = 39x - 20; zero: 4 10.) f(x) = x* - 9x? — 5x + 45; zero: 9
412 % -39 -20 a1 3 g -5 wE
LT & M 75~ 19 V90 -yg
A | \9 0 = 1) "0 5 [0
(X" x+5)=0 -DX*-5) =g
(X=9) (2x*+10x} x+5) =0 R g
(X -4) (2x (X 15) 21 (x +5)) =0 s
=D (x19) (2x+N=0 Y5 |

Find all real zeros of the function.

11) h(x)=x3+4x* +x -6 12)) g(x) = x3 —=5x* = 18x + 72
t\.t‘L,tB,t\o 1||*_2lt3‘*.‘-i‘iblfg,tq,!\?.’-\ﬁ.t2°i.fib.”i
I T T T B V! 210 -5 \% 2
\& I 5 b S T 12
5 v [0 | 2 -4 [0
x-DX+9x% +0) =0 -3 -2 - 24) = 0
(x-Dx 43 (x+1)=0 (x D (X-0) (x4 4) -0

RS ED sl |
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Find all real zeros of the function.
13) f(x)=2x3+4x? - 2x -4
1,27 F9r Y
IR T
\% Z b y
Z v 4 |0 7.4=%
(X-D(2x T 40X+ =0 42
(X ) (X v 2 +\“[X +4)=0
-1 (2% (x + DS (x ¥ =0

N X+ DN (x+4) =0

Find all zeros of the polynomial function.

14.) g(x) = 2x* —5x*—-14x +8
t]’tZ’tLi,tB,t"‘z
-2\ 2 -5 11 3
FERE
GRS
DX 1% +1)=0 Ay
(x 10 (2 -px|x t4) =0
2 (2x k- = () =0
(et x4 (2x- D =V

ez o] xR |

15) flx) =x*+4x3+7x?+16x+12 ' 16.) g(x) = x* + 5x3 — 7x* = 29x + 30 S
THhi2, 83,54 £t 12 s £1,47,£3,15, b, £10,415,* 30
Chyr 4 1w e PN XKHD )y 4 5 21 -29 30

R R ey I oA Vaid MW S

I 3 4 1|0 17'” R

KYoX ~X-30 xDx-0

in?))(l’r“fx-t\l .
®l£ %2 4 17 m @\\ b -\ -30 ()Unsxn‘))‘o

=b

-~ _ Yo7 o\ 35 Oenx-o)
' 03 g ,g' 3 15 o (x 1 D +3)0
1 e s
XL""_I 7(1“(5)(1'\5 X-,\\'x:
S
Write a polynomial function f of least degree that has rational coefficients, a leading coefficient of I, an
the given zeros.

17.) =3,-1,-2i 18.) 3, 2+ V3 |

(X +3) X D) (-2 (X +20) (x-3) (X-(2+93)) (x - (2-V3Y)
% Yx 7o ) (x-3) (0D -V3) ((x-2) +3)
VL INCE -3 (X B0 560 )
(X f“lzx+3\(x +4) . (x-3) (X=2x 2% +44-3)
X" (xTadx 43) ¢ 4 (x4 xr3) (X-3) (X =4x+41)

XH* L]XS + 5)‘1 -lL‘)(l +lbx +\2 Y\b\l"u‘X’( D ..3 X i“LD( | \\
lxq"ruﬁ‘}*’)xl'} \oX *\1] Xs’%xl“x“%&lnlx-_ﬂ

\x’ﬂx'“ +\§;E
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19) h(x) =0

$6)(x—1(x—4) 20) f() =2(x + 1)2(x - 1)(x — 4)

R EE A EELE

[ e

x-intercept(s): \“"\Ol Q\ (J,Q\ (U[,Q) x-intercept(s): _L-\, 0} “. 0) (.L* { 0)
y-intercept: _LQ_L_I’L ' y-intercept: ! ()l 3. ’2 )

x <119 -Y-y [T |35 x |22 |3 5
y 12410224115 [F43]-59132 vy 19]-15|-29.7 \10

22.) f(x) = x¥ — 4x? —3‘c-1i_-18
{ -3)

21) h(x) =x* —x2 = 17x - (

\x 1 \)\X-S)

x-intercept(s): ‘ \ 0) (5 0\ (,-3 Q) x-intercept(s): k’z.rﬁl (3, B)

y-intercept: \0. \5) y-intercept: KQ, \%)
L__—Li—z\lsqbl NEIEANEARRE
203540 W | [y Bl VTR v T
t\ +5 +'3 15 b\“)(x Ix - \5) ‘ +7_ 1‘3 +\0 +q * 1%

S AT 1S (AN (x-S) (x+3) -1\\ -4 -3 1% (ed-exd)

Y-l 7 s [V -1 Wb\ WA Dx-3)°

o=z 15 0 SR B
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